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~.,1GO ].0H/O #$73��%��D$����������$⌫2�⌫!&�kc�
��
�!
$
�9�� my 
⌫3���5����5���� D$��c⌫
⌫3#�B$ my

⌫3%����
" ~.,1GO ].0H/O �C�7�)�)&� -GK+/K+K.N N+1Y
NGL �7� HL0KG.1ML.+ #��$ ����⌫ LG1+W V+.WMLG/ �������
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����$����$��� ����⌫ /O/KG-.N /O-HK0- �73$e #!�
�C��%D������&�k�������$#!� 65�D$��c⌫$⌫2 /MJJG/K.01
���5���
" ~.,1GO ].0H/O

�!&�����
⌫3����������$⌫2 V.1,.1J/ 
⌫3��#�B$
1GHIL.K.NYL+1JG HL0KG.1ML.+ 6!��⌫ |Z` �����
#!C�$��� 
⌫3)"�&	����⌫ |Z` N+/K/ l⌦3�#�B$!&�kc�)"�&	
D$���������#�B$ 1GHIL.K./ l⌦3�D$��� +HHL0+NI #��
%��
�8⌦�D$
�� 1GHIL.K.N 65��C#�B$ 1GHIL.K.N 
⌫3�⌫
NLG+K.1.1G L./.1J 9⌦2$���� l⌦3�5���������� NLG+K.1.1G

⌫3 L./.1J 9⌦2$$&2$#�B$ +NMKG ��7� NIL01.N l⌦3�8����%��
����&5
#�������� D$����������$⌫2�⌫ NLG+K.1.1G 
⌫3���� e
)��9⌦2$#�73� i #�7�$���$��<�������! l⌦3� H+KKGL1 #�B$
6�� NIL01.N HL0JLG//.01 9�� LG1+W V+.WMLG <��
)�#�5�$��%���%��<��
�� 1GHIL.K.N JW0-GLMW+L
,./G+/G �������%�#�B$D$
�� +NMKG LG1+W V+.WMLG
D$ 1GHIL.K.N /O1,L0-G ��7�#�B$%�� ; <��<��#�B$
%�� +NMKG JW0-GLMW01GHIL. K ./ 01K0H
101HL0W.VGL+K._G JW0-GLMW0H+KIO 65�����⌫ NW.1.N+W
/O1,L0-G 9�� +NMKG ��7� /M]+NMKG JW0-GLMW0Y
1GHIL.K./ PRmT #��$ 0W.JML.+ 6!� IOHGLKG1/.01
�&�$&2$#�73�� LG1+W V+.WMLG D$����������$⌫2$⌦�8⌦�%��
NIL01.N HL0JLG//.01 9�� LG1+W V+.WMLG %�� M1Y
,GLWO.1J 1GHIL.K.N JW0-GLMW+L ,./G+/G

8����� my �&� /O/KG-.N ,./G+/G �
�8⌦�
����������� D$����������$⌫2�⌫����� 1GHIL0K.N /O1Y

,L0-G ���������c �? �� �⌫ /O/KG-.N .1_0W_GY
-G1K �!������� �$⌦3�D$$&2$�
�8⌦�<��D$�!��� .1VW+-Y
-+K0LO ]0[GW ,./G+/G^ +-OW0.,0/./ l⌦3������
��
~.,1GO �C�����
��!&�kc�$&2$e ���� l⌦3�<��
⌫3#�B$��
������
⌫3)�� ���6�� D$�!��� -G-]L+10M/ JW0-GLMY
W01GHIL.K./ ��7��!��� JW0-GLMW+L ,GH0/.K.01 ,./Y
G+/G/ #��$ LG1+W +-OW0.,0/./ l⌦3��C#9������&������

�� LG1+W D$����������$⌫2��� 65�8��#�B$ -G-]L+10M/
JW0-GLMW01GHIL.K./ �&�%� LGW+KG ���&� /O/KG-.N
,./G+/G/ ������73$������ #��$ 
�� Rx �C%��⌫ ̀ L0I1�/
,./G+/G^ /+LN0.,0/./ 
"D��#�
��⌫ /GN01,+LO -G-Y
]L+10M/ JW0-GLMW01GHIL.K./ ��� )"��&� ,.+]GK.N
1GHIL0H+KIO 
⌫3�� HLG/G1K ����#�73��9�� 1GHIL.K.N
/O1,L0-G D$���$⌫2$⌦�8⌦�$���#$73��%��#�5��!#�⌫���&�
J+/KL0H+LG/./ #��������������#�����$����⌫ 6!��&����
�⌫ LGK.10H+KIO 6!� HL0JLG//.01 9�� LG1+W V+.WY
MLG D$����������$⌫2#�C�#�
$��
⌫3%��@
���%�� ,.+]GK.N
1GHIL0H+KIO ��� 8����%�� HL0JLG//.01 9�� LG1+W
V+.WMLG 
⌫39⌦2$#�C�D$���� i #�7�$$⌫2 �
�8⌦�D$�!��� JW0-Y
GLMW+L ,GH0/.K.01 ,./G+/G ��������!����73$e #$73��
%�� -G-]L+10M/ JW0-GLMW01GHIL.K./ HL0JLG/Y
/.01 9�� LG1+W V+.WMLG %���������!����73$e D$�������
���$⌫28��5������ ,GV.1.KG ,.+J10/./ �C���
" ~.,1GO
].0H/O

�(	��8&��� D$����������$⌫2�⌫�(	�� +W]M-.1

85='7,2(@ )>-*7,+5 85='7(2,R-5='7,2(@ )>-*7,+5

�-,-.&% 59&,�( �-)(&)( �()&,�-�5&/-%%&+3 0�
8�5&% )(�.(,'&% �%�.(+*%�)5%(+�)-) 8-�+-%%&+3 �%�.(+*%�/&'9-()
�(.�+&,�*) ,(/9+�/&'93 �(+(�-'&+3 ,(/9+-'-)
"-&�('-5 �%�.(+*%�)5%(+�)-) 4�.( 5&*)() �� .()&,�-&%	 ��5&% &,� �-��*)(
1.3%�-��)-) /+�%-�(+&'-6( 0� ���	 <�1�	 /�)' -,�(5'-�,�
�-�9'#59&-, �(/�)-'-�, �-)(&)(

������⌫� &	 C
#�SG�T�
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⌫353"65��⌫ JW0]MW.1 ���53"5�� �⌫!&�kc� IOHGLJW0]MY
W.1G-.+ l⌦3�#�B$
⌫3$��)&�#�5�������������#�B$<��
⌫3�@
���
���
&2��������⌦#�!�� #��$#�B$%�� -010NW01+W
J+--0H+KIO P-MWK.HWG -OGW0-+^ }+W,G1/KL0-
-+NL0JW0].1G-.+^ -010NW01+W J+--0H+KIO 0V
M1~10[1 /0MLNG PjR�yT^ +-OW0.,0/./T ��7�
#�B$�!��� /O/KG-.N .1VW+--+K.01 
⌫3#�B$ H0WONW01+W
J+--0H+KIO 
⌫3��%�@
������%�� NIL01.N .1VGNY
K.01^ .1VW+--+K0LO ]0[GW ,./G+/G l⌦3�)�#�5���5���
.1_G/K.J+KG 5����

#�73��9�� +1G-.+ D$����������$⌫2#�B$��$�$
6!��#�B$6�� 10L-0NIL0-.N -.NL0NOK.N |Z` ���
�⌫ H0WONIL0-+/.+ )�#�5�$��%�#�B$%���⌫���)�����
�
��5
���
⌫3)�� <��<��
⌫3
"D��#�
� -.NL0NOK.N |Z`
��� �7� .L01 ,GV.N.G1NO +1G-.+ 6!� .1VW+--+Y
K.01r+1G-.+ 0V NIL01.N .1VW+--+K.01 ��7��!���
⌫3
�⌫���)���� JW0]MW.1 
⌫3�
���5
�� #��$ KI+W+//G-.+
#�B$5�$ D$����������$⌫2%�����5��%#�
3�#5
�8&��� �������
5��% .L01 /KM,O $��%��
�8⌦��!��� .L01 ,GV.N.G1NO
+1G-.+ #���������!&�����&�����&�k�����#�!C�6!��
+1G-.+ �⌫9⌦2$ 65��⌫9��)&�#�5
⌫3��� /GLM- .L01 9�����
����53"%�
� z/+Kw 53"%�
� 65�8����
⌫3 .L01 ,GV.N.G1NO
+1G-.+ zxZ` $��%�)�� 65�D$����������$⌫2 zxZ` 53"
#�B$����������%�⌫��� W0// 0V KL+1/VGLL.1 ��
��D�

���$⌦3� l⌦3��@
��������
⌫3)�)&� �7� W0// +W]M-.1

�� Rx KL+NK �C��%%�#�B$�⌫�5&�
⌫3 W0// ��

8�� JL0MH <��#�72��5�$ ��������⌫�����
�� Rx
.1_0W_G-G1K 
&2� MHHGL Rx KL+NK PNIL01.N J+/KL.Y
K./^ J+/KL0H+LG/./T^ W0[GL Rx KL+NK PMWNGL+K.01
0L N0W.K./T^ ]0[GW I+].K NI+1JG^ HL0KG.1YW0/.1J
G1KGL0H+KIO^ .L01 ,GV.N.G1NO +1G-.+ �����&��⌫�����

�� ~.,1GO �7� /GN01,+LO 1GHIL.K.N /O1,L0-G
[.KI LG1+W V+.WMLG 6!������
�� /O/KG-.N �7� /.JY
1.V.N+1K [G.JIK W0//^ VG_GL l⌦3�D$����������$⌫2���
"���

[0L~ MH #�73���)�#�5�D$)��$9�� /O/KG-.N .1_0W_GY
-G1K 6!�� %⌦�9�#�
	 �>��k�� ��
����5��D$6��
.-+J.1J/ ��&�
��!"#���

%�� NIG/K �YL+O �� -.W, N+L,.0-GY
J+WO ����⌫ HMW-01+LO +]10L-+W ,G1/.KO ���#�C$
-+//^ I.W+L -+// ��7� HWGML+W GVVM/.01

v],0-.1+W ̀ z D$ HW+.1 ̀ z ������⌫ /M]Y
NMK+1G0M/ /0VK K.//MG G,G-+ P���
⌫3 =T l⌦3��C#9�����
�&�����&5
 �����&��⌫ +/N.KG/ ��
��c������ ����⌫!&�kc�
IOHGL,G1/G 9�� ]0[GW 
⌫3������8⌦� IG-0LLI+J.N
]0[GW  [+WW

�!&�'⌫� N01KL+/K 
⌫3 /K0-+NI �⌫ G1I+1NY
.1J WG/.01 
⌫3 J+/KL.N +1KLM- P���
⌫3 ;T !&�kc�
9������&�#%$ .LLGJMW+L 8�� ,.VVGLG1K.+W ,.+J10/./
9�� G1I+1N.1J WG/.01 $⌦�8⌦� -MN0/+W WG/.01
�������#����8��#�B$ /M]-MN0/+W WG/.01 9���&�
%��&� ��7�#�B$#�73��9�� .1VW+--+K0LO -MN0/+ ��7�
MWNGL �⌫�#�73���7� J+/KL.N N+LN.10-+ 8��#�B$ -+//
������73$
⌫3D��!&�kc� IOHGL_+/NMW+L �����$⌫2����C%�#�B$
��� /M]-MN0/+W -+// �73$e ��� #��$ ]G1.J1 PIGY
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-+1J.0-+^ /NI[+110-+^ WG.0-O0-+T 65�%�� ̀ z
$��%�#�B$ /M]-MN0/+W WG/.01 ������� $��%�#�B$#�73��
9�� .1VW+--+K0LO -+// #�B$ MWNGL  ��7�#�B$
-+W.J1+1K MWNGL ��7� ,.J+/K.N MWNGL ����⌫ ]0[GW
KI.N~G1.1J ��<����� /-+WW 6!� W+LJG ]0[GW/ ���$
9�����5
 /K0-+NI ����⌫ KI.N~G1.1J J+/KL.N [+WW
#�C$65� G1I+1N.1J -+//YW.~G WG/.01 
⌫3 J+/L.N +1Y
KLM- #
��$&2$

v1J.0JL+HIO ����⌫%�� ]WGG,.1J D��#�C$
��
#�c /MHGL.0L -G/G1KGL.N +LKGLO PyjvT !&�kc�
�!��#!7������⌫!&�kc�9�� WG/.01 
⌫3 J+/KL.N +1Y
KLM- +LKG.L.K./ ���8⌦���
#�c9�� W0[GL Rx KL+NK
�C�����%�� ]WGG,.1J

D$����������$⌫2���
" ]01G /ML_GO �C��5
 ���
�⌫ 0/KG0WOK.N ��7� 0/KG0]W+/K.N WG/.01 ����⌫ H+KI0Y
W0J.N VL+NKMLG

`IG/K ̀ z P���
⌫3 4T 
⌫3���⌫ -.NL010,MW+L
WG/.01 9$��$������� � ��> %"$�$������ ����⌫ HWGMY
L+W GVVM/.01 ��7� HWGML+W -+// ��7� /.J1.V.N+1K
-G,.+/K.1+W WO-HI 10,GrH+L.GK+W WO-HI 10,G

G1W+LJG-G1K !&�kc� -.NL010,MW+L WG/.01 D$ WM1J

⌫3#�B$��������
⌫3)���7�#�73��9�� .1VGNK.01 D$#�73��9��
JL+1MW0-+K0M/ .1VGNK.01 #��$ �&c<�� ��7����5
�
#�72��� ��7� -+W.J1+1K -GK+/K+/./ �C���
������

��6!���C�⌫ HMW-01+LO .1_0W_G-G1K ��������
!&�kc�#�B$ 10,MWG 6!��⌫ -+//YW.~G WG/.01/ ��
#�c
/K0-+NI 6!�8��#�B$����� ����������$⌫2)��
���������
K.//MG ,.+J10/./ D$����������$⌫2$⌦�8⌦��!���<��
⌫3�⌫ -MWY
K.HWG 0LJ+1 .1_0W_G-G1K 6!�
"D��#�
�)
3�5��� e #�!��
$⌫2��� <�� ,.VVGLG1K.+W ,.+J10/./ �&�$⌫2

=> yO/KG-.N HL.-+LO +-OW0.,0/./ PvaT
,MG K0 M1,GLWO.1J HW+/-+ NGWW ,O/NL+/.+ [.KI
J+/KL0.1KG/K.1+W +1, LG1+W .1_0W_G-G1K/

;> x1VW+--+K0LO ]0[GW ,./G+/G
P`L0I1�/ ,./G+/GT [.KI /GN01,+LO 1GHIL0K.N
/O1,L0-G P-G-]L+10M/ 1GHIL0H+KIO 0L vv
+-OW0.,0/./T � J+/KL0H+LG/./

4> y+LN0.,0/./ [.KI /GN01,+LO 1GHIY
L0K.N /O1,L0-G P-G-]L+10M/ 1GHIL0H+KIO 0L
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vv +-OW0.,0/./T � J+/KL0H+LG/./
i> Rx -+W.J1+1NO [.KI /GN01,+LO 1GHIY

L0K.N /O1,L0-G P-G-]L+10M/ 1GHIL0H+KIOT
�> `IL01.N Rx .1VNK.01 [.KI /GN01,+LO

1GHIL0K.N /O1,L0-G
h> �HHGL Rx +1, W0[GL Rx ,./G+/G �

,.+]GK.N 1GHIL0H+KIO � ,.+]GK.N J+/KL0H+LG/./
x1_G/K.J+K.01/ 
⌫3%�
"5�����7�
=> |GHG+K ML.1+WO/./
;> `IG/K �YL+O^ Q�R
4> QNI0N+L,.0JL+- 5�������� N+L,.+N .1Y

_0W_G-G1K #$73��%��#��$⌦�8⌦� +-OW0.,0/./
i> yHGN.+W L+,.0JL+HI.N .1_G/K.J+K.01
�> �L.1G ZG1NG ☺01G/ HL0KG.1
h> yGLM- +1, ML.1G .--M10GWGNKL0Y

HI0LG/./ #$73��%���⌫���� IOHGLJW0]MW.1G-.+
�> Z01G -+LL0[ ].0H/O
F> Rx /N0HO +1, ].0H/OU MWNGL WG/.01^

LGNK+W /M]-MN0/+^ /M]NMK+1G0M/ +],0-.1+W V+K
E> �.,1GO ].0H/O

�� $���$⌫�
#�B$ ~.,1GO ].0H/O 
⌫3 +,G�M+KG #�����⌫

;4 JW0-GLMW. %������"!&�9���53" P���
⌫3 iT ��
JW0]+W /NWGL0/G, JW0-GLMW. �����&��⌫ NGWW .1V.WY
KL+K.01 ��
#�c KM]MW0.1KGL/K.K.M- ���)��$

5����#�B$ ~.,1GO ].0H/O �
2$#�⌫���&$ ���⌫
�����
⌫3�⌫ }Z` .1V.WKL+K.01 �����&��⌫ .1KGL/K.K.+W
V.]L0/./ !&�kc� KM]MWG �⌫9$��#!C� 6!����� e ���
�&$ �������$&2$�⌫ }Z` .1V.WKL+K.01 �� JW0]+W /NWGY
L0/G, JW0-GLMW. 6!��⌫ JW0-GLMWM/ 
⌫3�⌫!&�kc�
./NIG-.+ #����
⌫3��5&� JW0-GLMW+L NMVV ��5&�!�
%⌦�
"D�� Z0[-+1�/ /H+NG �������9⌦2$

D$����"!&�9���)�� P���
⌫3 �T �� NLG/G1K
D$ JW0-GLMWM/ l⌦3�<��
&3���D$�������
⌫3#�B$ +-OW0.Y

,0/./ ��7�D$����������$⌫2�⌫ KM]MW0.1KGL/K.K.+W .1V.WY
KL+K.01 ���$9���#��� 6!� JW0-GLMWM/ �⌫ KM]MW+L
NLG/NG1K #�73���!&�kc��&��!���%��@
���������������
�����⌫ ML.1G /G,.-G1K �⌫ |Z` D$ ML.1G 65�8���⌫
KM]MW+L NLG/NG1K #���e %��@
��� NLG+K.1.1G 
⌫3)��
9⌦2$#��������� 65�D$���� i #�7�$ 8��#�B$!&�kc�
NLG/NG1K ��7� JW0-GLMW01GHIL.K./ ���$��%�D��#�!�
$�$8⌦� i #�7�$ ����������%���D$���� ; )&����A8⌦�
= #�7�$

��
#�c .1KGL/K.K.M- 
⌫3�⌫ }Z` .1V.WKL+Y
K.01 �⌫�����
⌫3�⌫ G0/.10HI.W .1V.WKL+K.01 ���$9���

global sclerosed glomeruli 

cell infiltration ������ 

tubulointerstitium 

�E��⌫� !	 C
#� X5*-5> �(,=)> ���U�S�P���MG�G��P�⌫�S�
;3,��3 )@357,)() M����� ;3,+57:3( C�K 2:�:3,(-257)2(2(�3
N'(25 @533 (-A(327�2(,- C�K A(�7,)()

�E��⌫� Y	 C
#� X5*-5> �(,=)> ���U�S�P���MG�G
E��⌫�S�
,+>3,(* *5=,)(2 ����W Q�



��
⌫3 ;i '�&�
⌫3 = ������ Y �⌫$��� ;��i                       4E

#��� D$����������$⌫2 .1KGL/K.K.+W .1V.WKL+K.01 %⌦�
"D��
$⌦�8⌦�#�73��9�� ,LMJY.1,MNG, +NMKG .1KGL/K.K.+W
1GHIL.K./ �������� 65�#�73���������&5
���D�����⌫$�$
���#�73� iYh #�7�$���$ %⌦�
"D���
�8⌦�$���!�

RW0-GLMWM/ 
⌫3���#�C$ JW0-GLMW+L NMVV 6!�
8��6
$
⌫3���� NLG/NG1K PG⌧KL+N+H.WW+LO HL0W.VGL+Y
K.01 9�� H+L.GK+W GH.KIGW.+W NGWW �����&��⌫ }Z`
6
����������T �&�6)��D$���
⌫3 h

��
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